Rezerves dalu shéma RIPZAGIS -

Cxema 3anvacten MANA INCKOBAA TP RZ2A-72/1800

Ersatzteile HANDKREISSAGE

Diagram of Spare Parts CIRCULAR SAW Stand issue 05.2012
PozNr. Detaias Oifrs Nosaukums Skaits PozNr. Detaias 0ifrs Nosaukums Skaits
Mos. Lndp petanu HavmeHoBaHve Kon-Bo Mo3. Wndp getanm HavnmeHoBaHme Kon-Bo
Positior] Bestell- Nr. Benennung Stiick Position Bestell- Nr. Benennung Stiick
Pos. Part number Name Qty. Pos. Part number Name Qty.
2 RZ1-70.00.00.14A Korpusa uzlika (Haknagka kopnyca) 1 48 DIN125VZ 6,4 Paplaksne (LLlan6a) 4
3 RZ1-70.00.00.23 Atloks (Onarew) 1 49 DIN934 8VZ M6 Uzgrieznis (Farnka) 4
4 205x30 Zagripa (MunbHbIN ANCK) 1 50 DIN127 VZ/B6 Atsperpapléaksne (Larn6a) 4
5 RZ1-70.00.00.24 Caula (Brynka) 1 51 RZ1-70.07.00.00 Sparnuzgrieznis (faka cneunanbHas) 2
6 DIN965 4.8VZ M4x8 Galvskrave (BuHT) 3 52 RZ1-70.00.00.31 Sektors (CekTop) 2
7 RZ1-70.00.00.22 Atloks (OnaHew) 1 53 DIN 999 6x14 Bultskrave (bonT) 4
8 HO5RN-F 2x1,0 Aukla kopsalikuma (Ka6enb B cb6ope) 1 54 RZ1-70.00.00.51 Piespiednis (Mpuxum) 1
9 IE-5709.00.00.18-01 Aizsarguzmava (Tpy6Ka 3aLmTHas) 1 55 6201-2Z C3 Gultnis (MogwmWnHKK) 1
10 TNO6 10A Slédzis (BbikntouaTenb) 1 56 RZ2A-72.01.00.00 Enkurs (Akopb) 1
11 DIN912 8.8VZ M8x20 Galvskrave (BuHT) 1 57 6201-2Z C3 Gultnis (MoAWWNHUK) 1
12 IE-5107.0000.053 Paplaksne (Lar6a) 1 58 RZ1-70.01.00.06 Diafragma (duadparma) 1
13 DIN84 4.8VZ M6x20 Galvskrave (BuHT) 2 59 RZ2A-72.02.00.00 Stators (CraTop) 1
14 DIN125VZ 6.4 Paplaksne (LLla6a) 2 63 RZ1-70.01.00.07 Korpuss (Kopnyc) 1
15 RZ1-70.00.00.34B Kilis (Knun) 1 64 DIN127 VZ/B4 Atsperpaplaksne (Jaéaa) 4
16 RZ1-70.00.00.33A Plaksne (LLlan6a) 1 65 DIN125VZ 4,3 Paplaksne (LLlan6a) 4
17 RZ1-70.00.00.32A Austina (Ywko) 1 66 DIN84 4.8VZ M4x25 Galvskrave (BuHr) 4
18 DIN934 8VZ M6 Uzgrieznis (laiika) 2 67 RZ1-70.00.00.19-K Vaks (Kpblwka asuratens) 1
19 RZ1-70.00.00.18-K Roktura uzlika (Haknagka pyukm) 1 68 Spez 17zn 4x16 Galvskrave (BuHT) 2
20 Spez 16 zn 4x20 Skrave (BuHT) 6 69 DIN84 4.8VZ M4x12 Galvskrave (BuHT) 4
21 RZ1-70.00.00.29A Atspere (MpyxunHa) 1 70 DIN125VZ 4,3 Paplaksne (LLlan6a) 4
22 DIN84 4.8VZ M4x16 Galvskrave (BuHr) 4 71 DIN127 VZ/B4 Atsperpaplaksne (Larn6a) 4
23 DIN127 VZ/B4 Atsperpaplaksne (Larn6a) 4 72 IE-5708-0130-003 Atspere ([py»uHa) 2
24 DIN125VZ 4,3 Paplaksne (Larn6a) 4 73 IE-5708-0130-002 Ass (Ocb) 2
25 DIN84 4.8VZ M4x20 Galvskrave (BuHT) 1 74 DIN934 8VZ M4 Uzgrieznis (fanka) 2
26 DIN127 VZ/B4 Atsperpaplaksne (LWar6a) 1 75 IE-5708-0130-001-02 Sukas turétajs (LLleTkopepatenb) 2
27 DIN125VZ 4,3 Paplaksne (LLlan6a) 1 76 IE-5107-0260-000-02 Suka (LLleTka) 2
28 RZ1-70.09.00.00 Kustigais aizsargapvalks (Koxyx 3aLinTHbI) 1 77 DIN127 VZ/B3 Paplaksne (LLan6a) 2
29 RZ1-70.04.00.06 Vaks (Kpbiwwka) 1 78 DIN84 4.8VZ M3x8 Galvskrave (BuHT) 2
30 80202 Gultnis (MoAWwWWNHUK) 1 79 RZ1-70.00.00.28 Rokturis (PykoaTka) 1
31 RZ1-70.04.00.05 Kompensators (KomneHcatop) 1 80 DIN934 8VZ M6 Uzgrieznis (Farnka) 2
32 IE-5102B-0000-038-02 | Sprostgredzens (KonbLo) 1 81 DIN965 4.8VZ M6x20 Galvskrave (BuHT) 2
33 RZ1-70.04.01.00 Darbavarpsta kopsalikuma (LLinvHgens B coope) 1 82 DIN125VZ 6,4 Paplaksne (LLlan6a) 1
35 6-29 Gultnis (MoAwWWNHUK) 1 83 RZ1-70.07.00.00 Sparnuzgrieznis (faika cneunanbHas) 1
36 RZ1-70.08.00.00-K Korpuss (Kopnyc) 1 84 RZ1-70.00.00.35A Piespiedéjs (Mpwxunm) 1
37 Spez 16 zn 4x16 Skruve (BuHT) 4 85 DIN 999 6x20 Bultskrave (bonr) 1
38 RZ1-70.00.00.46 Zagésanas dziluma skala (LLikana rny6uHbl nponuna) 1 86 $42.00.00.00 Sparnuzgrieznis (Malka cneyunanbHas) 1
39 RZ1-70.00.00.17-K Rokturis (Pyuka) 1 87 DIN125VZ 6,4 Paplaksne (LLlan6a) 1
40 DS 12A* Elektroniskais bloks (9neKTpOHHbIN 6510K) 1 88 Spez 17zn 4x16 Skrave (BUHT) 1
41 MEX GPF 40/085/21/C | Kondensators (KoHaeHcaTop) 1 89 RZ2-70.00.00.52 Raditajs (YkasaTtenb nuneHus) 1
43 DIN603 4.8VZ M6x120 | Bultskrave (bonT) 1 20 DIN911 10.9 SW6 Atsléga (Kntou) 1
44 RZ1-70.03.00.00 Pamatne (OcHoBaHue) 1 91 IE-2106-0600-000 Atsléga (Kntou) 1
45 RZ1-70.05.00.00A Sanu vadlineals (JInnelika HanpasnawoLas) 1 92 IE-5107.02000.008 Kompensators (KomneHcaTop) 1
46 DIN 999 6x20 Bultskrdve (Bon) 2 *— Elektroniskais bloks tiek uzstadits saskana ar impotrt&tajvalsts prasibam.
47 DIN125VZ 6,4 Paplaksne (LLan6a) 2 NEKTPOHHBIN GJIOK yCTaHaBNNBAETCA COMacHO TPEBOBaHNAM CTPaHbI-MMopTepa

Uzmanibu! Remontdarbus, izmainu ievieSanu un rokas elektrisko instru-
mentu izméginsanu veiciet vajadziga tehniska limeni, ievérojiet drosibas
tehnikas prasibas atbilstosi DIN, GOST un citiem atseviskas valstis speka

esosiem normativiem dokumentiem.

Paturam sev tiesibas ienest izmainas. Masu raioljumi tiek pastavigi piln-
veidoti atbilstosi masdienu tehnikas attistibas [imena prasibam. Tapéc

més paturam sev tiesibas ienest izmainas.

BHeCeHVe N3MeHeHUN.

BHuMaHwe! PeMOHTHble paboTbl, BHECEHWE U3MEHEHMIA 1 UCTIbITaHNE PyYHbIX
3NEKTPOVHCTPYMEHTOB BbIMOMHANTE Ha [OMKHOM TEXHUYECKOM YPOBHE,
cobniogaitTe TpeboBaHMA MO TexHuke 6GesomacHoctn cornacHo DIN, TOC
W Opyrvix, AeNCTBYOLWNX B OTAENbHbIX CTPaHaX HOPMATUBHbIX JOKYMEHTOB.
OcTaBnsem 3a cobon npaBo Ha BHeECeHMEe W3MEeHEeHuW. Hawn nigenna
NOCTOAHHO NPUBOAATCA B COOTBETCTBME C Tpeﬁosanmmm COBpPEMeHHOro
YPOBHA Pa3BUTUA TEXHWKM. [103TOMy Mbl OCTaBnfAem 3a coboli MpaBo Ha

Electronic control can be used in conformity with the specific demands of the importer country.

Die elektronische Einheit wird entsprechend den Anforderungen des Importlandes eingebaut.

Beachten: Instandsetzung, Anderungen und Priifung von handge-
fuhrten Elektrowerkzeugen sind fachgerecht durchzufiihren. Die
Sicherheitsvorschriften nach DIN, GOST und weitere in den einzelnen-

Landern gtiltige Vorschriften sind einzuhalten.

Anderungen vorbehalten. Unsere Erzeuﬁ)n
gen technischen Stand angepaft. Desha

vor.

isse werden stets dem heuti-
behalten wir uns Anderungen

Attention! Power tools repair, modification and testing must be carried
out according to the generally recognized engineering practice. Safety
notes in accordance with DIN,”AINO and other regulations applicable in

individual countries must be observed.

Modifications reserved. Our products are constantly modified to meet
the requirements of modern technical standards, therefore we reserve

the right to alter data and specifications.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


